Sine Rule
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3. In a triangle abc, a =5 d
Find (i) |2 abc]. correct i
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5.In the given triangle [ac=10m,
|Zacb|=4(°, |2bad| =55 and
bd Lcd. N
Find (i) [bc| and (ii) bd], giving
cach answer correct 10 the nearest
metre. 5 i
«10m-»?

6. In the given diagram ab Lbe, |bk| =
15m, |Zcbk| =20° and [ Zbac| = 40

Caletate Jok], in metres, correct (o

one decimal place. i
B
4

7.In the given quadrilateral abed,
0, [bc|=S5, |Labd|=40",
| dab| = 55° and | dbe] = 60"
Find B
(i) |bd| 0
(ii) the area of the quadrilateral b o =
abed.
Give cach answer correct to 1 decimal place.
8. In the given triangle abe, |2 abe| = o
90°. d is a point on [bc] such that g
|de|=30cm. If [2dac|=10° and
[£acd] =25°, calculate
(i) |ad|
(i) [bd] L e

Give each answer correct to the
nearest integer.
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angle of levaion of 1 sen he
tower [bc] is 40°. On walking s
metres toiards the et 78 0
e

Use the sine rule, or otherwise, to
find the height of the tower [be], a
correct to the nearest metre. PR ;

10. x and y are two lighthouses 21

3
kilometres apart
/i and k are 2 ships such that k is
collinear with the two lighthouses.
e .

P
If |2 hky| =70°, | £ xhk| = 60° and | yhk| = 407, calculate the
the two ships, correct to two significant figures.
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Section 15 I:. The Cosine Rule
In each of the triangles shown below we are given 3 picces of information.

In triangle A we are given two sides and the included angle (i.c. the angle between

them).
In m’zngl: B we are given the lengths of the three sides.
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3 d to find
. Sine Rule be used to!
o ncither ol fhess m:: %lerssc;;:.;emese types of triangle is calle
o

and angles. The meth

the remaining sides
d the Cosine Rule.




